Jagadguru Panchacharya Education Society's

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off.: 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231-2668810

e-mail: hmc_h@yahoo.com

Website: www.hmchkop.org

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M.

PRINCIPAL

Ref. No .:

Date:

Annexure - III

Part II - Hospital Details

Information about Hospital & Department -wise OPD & IPD

Sr. No	A-Hospital Details Infrastructure	Details on College Website	Remark
1	Name of Hospital – Sanjeevani Hospital	Available	
2	Registration details with Renewal	Available	
3	Bed strength - ward distribution- As per MSR and Intake capacity	Available	
4	Hospital Infrastructure as per schedule (IA)Administration block OPD / IPD details (Refer Annexure – III)Operation theatre unit Yoga / Physiotherapy rehabilitation unitCentral Clinical Laboratory Radiology and Sonography SectionHospital kitchen Stores	777.22 sq.m.	
5	Ambulance facility (own / MOU)	Own	
6	Dispensing Unit (Upload the details)	11.20 sq.m.	
7	Hospital Equipment as per MSR- OPD / IPD Upload the details	Available	
8	MOU with super specialty Hospital for clinical training of studentand its functional Upload the details	Available	
9	First Aid kit in OPD / IPD	Available	
10	BMW Certificate	Available	

(Dr. Rajkumar Patil) PRINCIPAL J.P.E.S's Homoeopathic Medical College, Kolhabur

Jagadguru Panchacharya Education Society's

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off.: 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231-2668810

Website: www.hmchkop.org e-mail: hmc_h@yahoo.com

Date:

M.D.(Hom.), D.H.M.

Dr. Rajkumar S. Patil

PRINCIPAL

Ref. No.:

Total No. of Patients in OPD During Last One Year (Dept Wise)

Sr. No	Month	General Medicine	Peadiatrics	OBGY	Surgery Or Any Other Specialty
1	January 2022	4113	1931	211	549
2	February 2022	3712	1836	245	489
3	March 2022	4314	2019	332	453
4	April 2022	4192	1909	216	451
5	May 2022	4250	1987	199	474
6	June 2022	4258	2061	239	463
7	July 2022	4310	2036	182	474
8	August 2022	4038	1835	235	448
9	September 2022	4170	1945	244	441
10	October 2022	3964	1829	230	392
11	November 2022	3954	2025	255	603
12	December 2022	4088	2016	250	559
	Total	49363	23429	2838	5796
	Grand Total	81426			

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off. 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231-2668810

e-mail: hmc_h@yahoo.com

Website: www.hmchkop.org

Date

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M

PRINCIPAL

Ref. No.

Total No. of Patients in IPD During Last One Year (Dept Wise)

S. N.	Month	Informatio	n to be filled i	ip by coll	lege
		General Medicine	Peadiatrics	OBGY	Surgery or Any other Specialty
1	January 2022	16	4	4	5
2	February 2022	17	7	3	4
3	March 2022	15	6	3	6
4	April 2022	20	4	3	4
5	May 2022	16	5	3	6
6	June 2022	18	3	3	9
7	July 2022	27	6	2	3
8	August 2022	19	6	4	4
9	September 2022	19	4	3	5
10	October 2022	19	5	4	5
11	November 2022	22	5	3	5
12	December 2022	24	6	4	4
Total		232	61	39	60
Grand '	Гotal	392			(D. D. II. D. II.
Bed Occupancy (in %)		53.80%			(Dr. Rajkumar Pati
FORM	MULA FOR CALCUL	ATING BED	OCCUPANCY	<i>l</i>	
Bed C	Occupancy =	Total No. of	Bed days Occ	upied x 10	00
	5707 15		Beds x No. of		

(Dr. Rajkumar Patil) J.P.E.S's Homoeopathic Medical College, Kolhapur

Jagadguru Panchacharya Education Society's

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

TO Off.: 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231- 2668810 Website: www.hmchkop.org

website: www.nmcnkop.org e-mail: hmc_h@yahoo.com

Date:

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M.

PRINCIPAL

Ref. No.:

Department of Clinical Pathology

Sr.No	Months of 2022	OPD Investigation	IPD Investigation	Total Investigation
1	January	81	27	108
2	February	83	27	110
3	March	92	19	111
4	April	74	22	96
5	May	81	30	111
6	June	84	29	113
7	July	81	29	110
8	August	80	29	109
9	September	82	27	109
10	October	70	35	105
11	November	81	28	109
12	December	93	26	119
	Total	982	328	1310

(Dr. Rajkumar Patil)

PRINCIPAL

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi

T Off 0231-2652480

2662904

Hosp. 2536905

2538806

Resi. 2662036

Fax: 0231-2668810

Website: www.hmchkop.org

e-mail: hmc_h@yahoo.com

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M

PRINCIPAL

Ref. No.

Date

Total No Of ECG From 1st Jan 2022 To 31st Dec 2022

MONTH	TOTAL
January	7
February	8
March	8
April	9
May	8
June	13
July	12
August	8
September	8
October	11
November	9
December	6
Total	107

(Dr. Rajkumar Patil) PRINCIPAL

Jagadguru Panchacharya Education Society's

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off.: 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231-2668810

Website: www.hmchkop.org e-mail: hmc h@yahoo.com

Dr. Rajkumar S. Patil M.D.(Hom.), D.H.M.

PRINCIPAL

Ref. No.:

Date:

Total No Of X-RAY From 1st Jan 2022 To 31st Dec 2022

MONTH	TOTAL
January	6
February	7
March	6
April	7
May	6
June	8
July	6
August	8
September	8
October	7
November	6
December	6
Total	81

(Dr. Rajkumar Patil)

PRINCIPAL

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off 0231-2652480

2662904

Hosp. 2536905

2538806

Resi.: 2662036

Website: www.hmchkop.org

Fax: 0231-2668810

e-mail: hmc_h@yahoo.com

Date

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M

PRINCIPAL

Ref No

I.PD Record

Percentage of Bed Occupancy Per Day For The Year 2022

(From 1st Jan.2022 to 31st Dec.2022)

 $Percentage of Bed Occuoupancy = \frac{TOTAL \ NO.OF \ BED \ OCCUPIED \times 100}{BED \ STRENGTH \times NO.OF \ DAY}$

$\frac{720 \times 100}{40 \times 31} = \frac{7200}{124} =$	58.06 %
$\frac{702 \times 100}{40 \times 28} = \frac{7020}{112} =$	62.67%
$\frac{751\times100}{40\times31} = \frac{7510}{124} =$	60.56 %
$\frac{682 \times 100}{40 \times 30} = \frac{6820}{120} =$	56.83 %
$\frac{657 \times 100}{40 \times 31} = \frac{6570}{124} =$	52.98 %
$\frac{605 \times 100}{40 \times 30} = \frac{6050}{120} =$	50.41 %
$\frac{^{436\times100}}{^{40\times31}} = \frac{^{4360}}{^{124}} =$	35.16 %
$\frac{616\times100}{40\times31} = \frac{6160}{124} =$	49.67 %
$\frac{624 \times 100}{40 \times 30} = \frac{6240}{120} =$	52.00 %
$\frac{558 \times 100}{40 \times 31} = \frac{5580}{124} =$	45.00 %
$\frac{810 \times 100}{40 \times 30} = \frac{8100}{120} =$	67.5 %
$\frac{694 \times 100}{40 \times 31} = \frac{6940}{124} =$	55.96 %
	$\frac{702 \times 100}{40 \times 28} = \frac{7020}{112} =$ $\frac{751 \times 100}{40 \times 31} = \frac{7510}{124} =$ $\frac{682 \times 100}{40 \times 30} = \frac{6820}{120} =$ $\frac{657 \times 100}{40 \times 31} = \frac{6570}{124} =$ $\frac{605 \times 100}{40 \times 30} = \frac{6050}{120} =$ $\frac{436 \times 100}{40 \times 31} = \frac{4360}{124} =$ $\frac{616 \times 100}{40 \times 31} = \frac{6160}{124} =$ $\frac{624 \times 100}{40 \times 30} = \frac{6240}{120} =$ $\frac{558 \times 100}{40 \times 31} = \frac{5580}{124} =$ $\frac{810 \times 100}{40 \times 30} = \frac{8100}{120} =$ $\frac{694 \times 100}{40 \times 30} = \frac{6940}{120} =$

Calculation:

Percentage of Bed Occupany Per Day = $\frac{78550}{1460}$ = 53.80 %

(Dr. Rajkumar Patil)

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt of Maharashtra and National Commission for Homoeopathy, New Delhi.

T Off 0231-2652480

2662904

Hosp.: 2536905 2538806

Resi.: 2662036

Fax: 0231-2668810

Website: www.hmchkop.org e-mail: hmc_h@yahoo.com

Date

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M

PRINCIPAL

Ref. No

IPD Record

Average Bed Occupancy Per Day for The Year 2022

(From 1st Jan 2022 to 31st Dec 2022)

Month	Total No of Patients 720 702 751		
January			
February			
March			
April	682		
May	657		
June	605		
July	436		
August	616		
September	624		
October	558		
November	810		
December	694		
Total -	7855		

(Dr. Rajkumar Patil)

PRINCIPAL

Jagadguru Panchacharya Education Society's

HOMOEOPATHIC MEDICAL COLLEGE & HOSPITAL

200 E, Tararani Chowk, Kolhapur - 416 003.

Affiliated to Maharashtra University of Health Sciences, Nashik, Recognised by Govt. of Maharashtra and National Commission for Homoeopathy, New Delhi.

TO Off.: 0231-2652480

2662904

Hosp.: 2536905

2538806

Resi.: 2662036

Fax: 0231-2668810

Website: www.hmchkop.org e-mail: hmc_h@yahoo.com

Dr. Rajkumar S. Patil

M.D.(Hom.), D.H.M.

PRINCIPAL

Ref. No.:

Total OPD Record From 1st Jan 2022 to 31st Dec 2022

Sr.	Month	Old Patients	New	Total
No			Patients	Patients
1	January - 2022	6535	269	6804
2	February - 2022	5977	305	6282
3	March - 2022	6784	334	7118
4	April - 2022	6472	296	6768
5	May- 2022	6598	312	6910
6	June-2022	6698	323	7021
7	July-2022	6711	291	7002
8	August-2022	6290	266	6556
9	September-2022	6555	245	6800
10	October-2022	6201	214	6415
11	November-2022	6610	227	6837
12	December-2022	6618	295	6913

Total Number Of Patients in OPD during year 2022 = 81,426

Average Number Of Patients Per Day in OPD = 271

(Dr. Rajkumar Patil)
PRINCIPAL